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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this
question paper.

2. Attempt all Five questions. Questions No. 1 to 4 carry 15
marks each and Question No. 5 carry 10 marks.

3. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.
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L. Define Kinesiology & Sports Biomechanics. Explain tp
- . . e
importance of Kinesiology & Sports Biomechanics. (15)
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3. Explain the following :
ﬁﬂ%ﬁaﬁ T GO T
(i) Newton’s Laws of Motion
e & WioRieren &
(ii) Factors influencing Projectile trajectory
AT T GHIRET FA A HRE
OR
Explain the following :
frfaiad &1 qu W
(1) Liever and its application in sports activities
Je et ¥ W w1
(i) Force

el

4. Write notes on any two of the following:
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P.T.O.
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(a) Linear Kinematics
&g FEARcT

(b) Types of Muscle Contraction
g FeHaT & THR
(c) Linear Kinetics

W& wEAeTd

5. Attempt any ten :
(1) First law of motion is also called
(a) Law of action and reaction

(b) Law of conservation of energy

(c) Law of inertia

is called
() Sagittal axjs
(b) Sagittal plane
(¢) Vertical axis

(d) Lateral axig
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(iii) What is velocity?

(a) Velocity = change in displacement / time

(b) Velocity = total distance travelled / time
(c) Velocity = change in displacement / speed

(d) Velocity = time / change in displacement

(iv) What is the difference between distance and

displacement?

(a) Displacement is the distance between the start
and end point only, distance is the total distance
travelled along the path of motion.

(b) Displacement is the total distance travelled along
the path of motion, distance is the distance

between the start and end point only.

(c) Displacement is the distance between the start
and end point only, distance is the distance

between the start and end point only.

(d) Displacement is the total distance travelled along
the path of motion, distance is the total distance

travelled along the path of motion.

(V) Which of these is not one of Newton’s 3 laws of

motion?
P.T.O.
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(a) A body will continue in a state of rest of uniform

velocity unless acted upon by an external force.

(b) For every action there is an equal and opposite

reaction.

(c) A body moves in a circle about a point called

the axis of rotation.

(d) The acceleration of an object is directly
proportional to the force causing it and is
inversely proportional to the mass of the object.

(vi) Which of the following is not a kinematic quantity?

(a) Distance

(b) Displacement

(c¢) Acceleration

(d) Force

(vii) Once a projectile is airborne, it is
of the following :

affected by which
(a) Gravity

(b) Air resistance

(¢) Release velocity

(d) Both (a) & (b)
(e) All of the above
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(viii) which of the following is the most S
definition of biomechanics?

(a) The study of human movement
(b) The study of biological organisms
(c) The study of movement mechanics

(d) The study of the mechanicallaspects of biological

organisms

(ix) Which of the following would not be measured in a

kinematic analysis of a tenni§ serve?
(a) Angular velocity
(b) Linear velocity
(c) Muscular fc;rce

(d) Angular acceleration
(x) Speed’ is indicated in

(a) Km/sec?

(b) Crv/hour

(¢) Newton

(d) Km/hr
P.T.0O:
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(xi) There are three types of lever in the world. The
is more common in the body.

(a) First-class lever
(b) Second-class lever
(c) Third-class lever

(d) None of the above

(xii) Imaginary line passing horizontally from one side to
other is called

(a) Sagittal axis
(b) Sagittal plane
(c) Vertical axis

(d) Transverse plane

fordt st 10 1 S ¥
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p.T.O.
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